


















360,000 ¶JlW

5,000 w.4

10% llnsl%a~haJ

360,000=
x - .10x

= 360,000

= 80 UIM

5,000 = 260,000
x - 10 - .10x

8 8 AC 234 (H)



X
3,000,000 12,600,OOO= X =
200 - 140 200 - 60

3,000,000
+

1,200,000 100,000
12,600,OOO + 1,200.000

100,000 = ; =x - 140 x - 60

X = 182 IJI'YI; X = 198 Ylpl

S-12

6,500,OOO
x =

2

X = 3,250,OOO  %I7

VI% 6,500,OOO  YlVl

AC 234 (HI 89



2. K%lllUl~ 5,000,000 ha

ril~~%Q.SlJ%lP3ilTk  (5,000,OOO - 3,250,OOO) x 2 = 3,500,OOO E117-1

3. (1) @bYjWlJn"  6,500,OOO  IJIW + eil~~~l~~~~l~~l~l~~~~~l 400,000 IJlYl

+ Fil~+dlU&.4  ") fill 80,000 EllW = 6,980,OOO YI'YI

(2) Y3Y'nwt~,b~arvler~~~~~~~a  2,500,OOO &la

iilrrsiaw~iiPba~o~n~~~~~~~~~~ = 2,500,OOO x 2

= 5,000,000  IJIM

mis~""Jd"glM~8  6,980,OOO  - 5,000,OOO = 1,980,OOO IJlVl

hat.4 2,060,000  Om?kt6%1 &miafhSs 3,500,000  ~17~

x = unM~lal~lYludo8ma

hda6M 2,000,000  =
1,980,OOO + 3,500,OOO

X

X = 2.74 LIIW

+n.ba~  2,000,000 ^am, T-WVJJI~~'~/I~U  2.14 mn %a:!L&-h1~  3,500,oooou~n

X
1,600=

400 - 300
= 16 Cl%h

9 0

2. C%dn 40 nu tmrJx~au9tT&-h~7

= (40 - 16) x 100

= 2,400 ¶JlW/tTyel@ll6

AC 234 (H)



8-14

1. T-h~a (91lmp)  ~nBnl~~~~a~o299~~~~~~~~~

fmmiu  (200,000 wiau + 60.000 miser) x 40 10,400,000 JJIW

ih$ii.bL,dS @J 35 x 260,000 9,100,000 IJIW

ii71~6iauCiu 1,300,000 ¶JlW

&.qwJd 2.400.000 IJlYl

91161?pt@ (1,100,000) LIIW

x 2,400,OOO=
40 - 35

= 460,000 wdau

3. x unuhtiadu7u su ?-hIa 600,000 ¶JlYl

x
2,400,OOO  + 600,000=

5

8-15

Tllf&ojtl
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52,500 = 1 0 7 , 5 0 0  +  2 6 0 , 0 0 0
2 0  - ( 1 0  +  x )

X = 1 0 7 , 5 0 0
20 - (10 + 3)

9 2 AC 234 (H)


